
C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 1 OF 48SCALE: 1:25

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 2 OF 48SCALE: 1:25

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



 6898 
 6

63
9 

 3898 

 3
62

7 

 R1500 

 R1888 

 R1500 

 1500 

 R
15

00
 

 1
50

0 

 R1500  R
15

00
 

 1
50

0 

 R1500 

 1500 

 R1
50

0 

 1
50

0 

 R
15

00
 

 R1500 
 1

50
0 

 R1500 

 1
50

0 

Safety area

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 3 OF 48SCALE: 1:45

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



 755  850 

 1
25

7 

 1
70

0 

 1
70

0 

 6
43

  728 

 1
11

7 

 984 

 850 

 1715 

Foundation

Depth of foundation: 600mm

A B

C D

E
F

G

H I

J K

LM

N

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 4 OF 48SCALE: 1:45

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



 3898 

 300 

 3
00

 

 5
0 

 3627 

 6
00

 
 2

66
5 

ground

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:45 SHEET 5 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



Z011 1740mm post A

Z011 1740mm post B Z011 1740mm post C

Z011 1740mm post D

Z011 1200mm post E

Z011 1200mm post F

Z011 500mm post G

Z011 1740mm post H

Z011 1740mm post I

Z011 1740mm post J

Z011 1740mm post K

post L post M post N

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 6 OF 48SCALE: 1:45

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



Z011 Platform 1

Z011 Platform 2

Z011 Platform 3

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 7 OF 48SCALE: 1:30

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



Z011 30x30x1000 AL

Z011 30x30x1500 AL

Z011 Aluminium 30x30x1798

Cocpit 1 Cocpit 2

Illuminaator d400

Bowl with star

cocpit glass

Z011 230x330mm panel

Z011 250mm panel

Z011 345mm panel

2x

2x

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 8 OF 48SCALE: 1:30

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



Z011 345x345mm panel
Z011 752mm seat panel 1

Z011 752mm seat panel 2

Z011 1602mm panel with holes

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 9 OF 48SCALE: 1:15

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



Z011 1602mm table panel

Z011 cocpit panel Z011 illuminator panel

Z011 panel with stars

Z011 rafter

4x

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 10 OF 48SCALE: 1:15

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



Z011 roof with letters Z011 roof with triangle cut

Z011 roof without letters Z011 trapezoid roof 1

Z011 trapezoid roof 2

Z011 seat panel 1

Z011 seat panel 1-2

Z011 seat panel 2

Z011 seat panel 2-2

Z011 seat panel 2-3
Z011 seat panel 3

2x

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 11 OF 48SCALE: 1:30

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



Z011 seat panel 4

Z011 table

Z011 roof corner

Roof corner 72° 65x65

Z011 250mm star

Z011 420mm star

Z011 590mm star

Z011 Table leg

12x

20x 2x

2x

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 12 OF 48SCALE: 1:30

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



6 x 60 Woodscrew6 x 60 Woodscrew

Aluminium post filling for post capAluminium post filling for post cap

Aluminium post filling for post capAluminium post filling for post cap

Aluminium profile post cap for groundfixing

6 x 60 Woodscrew6 x 60 Woodscrew

Post

Profile post cap

M10x100 bolt DIN603M10x100 bolt DIN603

M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

Aluminium profile post groundfixing

Aluminium profile post gap and 
tube groundfixing assembly

Step 1

Step 2

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 13 OF 48SCALE: 1:10

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



6 x 90 Woodscrew6 x 90 Woodscrew

Profile post cap

M6 Nut cover
5,5x50 DIN7504-K

M6 Nut cover cap
M6 Nut cover

5,5x50 DIN7504-K
M6 Nut cover cap

750mm metal groundfixing

Wood profile post gap and 
groundfixing assembly

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 14 OF 48SCALE: 1:6

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



A

Z011 1740mm post C

Z011 1740mm post A

Z011 1740mm post B

Z011 1200mm post E
Z011 1740mm post D

Z011 platform 2

DETAIL A
SCALE 1 : 15

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

M10x100 bolt DIN603

M10x100 bolt DIN603

M10 washer DIN125

M10 Nut DIN985

6 x 90 Woodscrew

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:30 SHEET 15 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



M10x35 bolt DIN603M10x35 bolt DIN603

M10x100 bolt DIN603M10x100 bolt DIN603

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

M12 Nut cover
M10 Washer DIN9054
M10 Nut DIN985
M12 Nut cover cap

Corner 40x45x60mm 90°Corner 40x45x60mm 90°

Panel to post assembly

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 16 OF 48SCALE: 1:12

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



B

Z011 345mm panel

Z011 illuminator panelZ011 1602mm panel with holes

Z011 cocpit panel DETAIL B
SCALE 1 : 10

M10x80 bolt DIN603
M10 Washer DIN9054

M10 Nut DIN985

All fasteners that go through the 
panel and the platform are the 
same!!!

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 17 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



M8x90 bolt DIN603M8x90 bolt DIN603

Wheel washer for spring

spring for wheel

Car wheel

Wheel washer for spring
Wheel washer for distanceWheel washer for distance

Cockpit panel 1

M8 Nut cover
M8 Nut DIN985

M8 Nut cover cap

Cockpit cornerCockpit corner

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

Cockpit 1 assembly

Step 1

Step 2

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 18 OF 48SCALE: 1:9

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



Cocpit 1

Cockpit glass

M8 Nut cover

M8 Nut DIN985

M8 Nut cover cap

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 19 OF 48SCALE: 1:10

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



M8x90 bolt DIN603M8x90 bolt DIN603

Wheel washer for spring
spring for wheel

Plane wheel, yellow
Wheel washer for spring

Wheel washer for distanceWheel washer for distance
M8x30 bolt DIN603M8x30 bolt DIN603

Slide corner 45x48Slide corner 45x48

M8 Nut coverM8 Nut cover
M8 Nut DIN985M8 Nut DIN985
M8 Nut cover capM8 Nut cover cap

M8x60 bolt DIN603
Cocpit 2 circle 80mm

Cocpit 2 circle 35mm
Cockpit panel 2

Cocpit 2 circle 80mm
M8 Nut cover
M8 Nut DIN985
M8 Nut cover cap

M8 Nut cover
M8 Nut DIN985
M8 Nut cover cap

Cocpit 2 gear lever

M8x35 bolt DIN933
M8 Nut DIN985

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN
M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

Cockpit cornerCockpit corner

Step 1

Step 2

Step 3

Cockpit 2 assembly

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 20 OF 48SCALE: 1:8

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



M8 Nut cover

M8 Nut DIN985

M8 Nut cover cap

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

Cockpit 2

Illuminaator d400

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 21 OF 48SCALE: 1:8

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



Z011 seat panel 1

M8x40 DIN7991

M8x40 DIN7991

Plastic corner 90° 65x65mm

Z011 seat panel 1-2

M10x35 bolt DIN603

Corner 40x45x60mm 90°

M8x40 Art. 9121 TX-PIN

M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

Plastic corner 90° 65x65mmPlastic corner 90° 65x65mm

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:8 SHEET 22 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



M8x40 DIN7991M8x40 DIN7991

M8x40 DIN7991M8x40 DIN7991

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

Plastic corner 90° 65x65mm

Corner 40x45x60mm 90°Corner 40x45x60mm 90°

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985

M12 Nut cover cap

M8x40 Art. 9121 TX-PIN

Plastic corner 90° 65x65mmPlastic corner 90° 65x65mmPlastic corner 90° 65x65mm

Z011 seat panel 2

M10x35 bolt DIN603M10x35 bolt DIN603

Z011 seat panel 2-2

Z011 seat panel 2-3
B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:8 SHEET 23 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



C

D

DETAIL C
SCALE 1 : 10

M10 Nut DIN985
M10 washer DIN9021

M12 Nut cover

M10 Washer DIN9054

10x70 screw DIN571

M12 Nut cover cap

M10x45 bolt DIN603

DETAIL D
SCALE 1 : 10

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 24 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



E

DETAIL E
SCALE 1 : 10

M10 Nut DIN985M10 Nut DIN985

M10 washer DIN9021M10 washer DIN9021

M10x45 bolt DIN603M10x45 bolt DIN603

M8x40 Art. 9121 TX-PIN

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 25 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



F

Z011 1740mm post J

Z011 1740mm post K

Z011 1740mm post I

Z011 500mm post G

Z011 1740mm post H

Z011 platform 1

DETAIL F
SCALE 1 : 10

M12 Nut cover

M10 Washer DIN9054

M10 Nut DIN985

M12 Nut cover cap

M10x100 bolt DIN603

M10x100 bolt DIN603

6 x 90 Woodscrew

M10 Nut DIN985

M10 washer DIN125

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:30 SHEET 26 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



G
Z011 230x330mm panel

Z011 345x345mm panel

Z011 752mm seat panel 1 Z011 1602mm table panel

Z011 752mm seat panel 2

DETAIL G
SCALE 1 : 10

M10x80 bolt DIN603

M10 Washer DIN9054
M10 Nut DIN985

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 27 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



Plastic corner 90° 65x65mmPlastic corner 90° 65x65mm

Plastic corner 90° 65x65mm

M8x40 Art. 9121 TX-PIN

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN
M8x40 Art. 9121 TX-PIN

Plastic corner 90° 65x65mmPlastic corner 90° 65x65mm

Z011 1602mm table panel

M8x40 Art. 9121 TX-PIN

Plastic corner 90° 65x65mm

M8x40 Art. 9121 TX-PIN

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 28 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



Plastic corner 90° 65x65mm

Z011 752mm seat panel 2

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

M8x40 Art. 9121 TX-PIN

Plastic corner 90° 220x220mmPlastic corner 90° 220x220mm

Z011 752mm seat panel 2

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 29 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



M8x40 Art. 9121 TX-PIN

Z011 230x330mm panel

Plastic corner 90° 65x65mm

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 30 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



Plastic corner 90° 220x220mm

Plastic corner 90° 220x220mm

Plastic corner 90° 65x65mm

Z011 seat panel 3

M8x40 DIN7991M8x40 DIN7991

M8x40 DIN7991M8x40 DIN7991

Plastic corner 90° 65x65mm

M8x40 DIN7991

M8x40 DIN7991

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 31 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



H DETAIL H
SCALE 1 : 10

M8x40 Art. 9121 TX-PIN

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

Z011 seat panel 3

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 32 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



Z011 Table leg

M10 domed cap nut DIN986

Corner 40x45x60mm 90°

Corner 40x45x60mm 90°

M10x100 bolt DIN603M10x100 bolt DIN603

Corner 40x45x60mm 90°

Corner 40x45x60mm 90°

M10 domed cap nut DIN986

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 33 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



M10 domed cap nut DIN986M10 domed cap nut DIN986M10 domed cap nut DIN986

M10x30 bolt DIN603M10x30 bolt DIN603M10x30 bolt DIN603M10x30 bolt DIN603

Z011 table

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:7 SHEET 34 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



I

J

DETAIL I
SCALE 1 : 10

M8x40 DIN7991

DETAIL J
SCALE 1 : 10

M10x45 bolt DIN603

M10 washer DIN9021

M10 Nut DIN985

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 35 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



K

Z011 platform 3

DETAIL K
SCALE 1 : 10

M10x100 bolt DIN603

6 x 90 Woodscrew6 x 90 Woodscrew

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985

M12 Nut cover cap

Z011 1200mm post F

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 36 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



L

DETAIL L
SCALE 1 : 10

M10x65 bolt DIN603

M10 Nut DIN985

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 37 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



The platforms are attached with the 
same bolts as on the previous page!!

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:25 SHEET 38 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



Wheel washer for distanceWheel washer for distance

Wheel washer for spring
Z011 250mm star
spring for wheel

Wheel washer for spring

M8x90 bolt DIN603M8x90 bolt DIN603

M8 Nut cover
M8 Nut DIN985

M8 Nut cover cap

Z011 panel with stars
B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 39 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



M

Z011 panel with stars

Z011 250mm panel

DETAIL M
SCALE 2 : 25

M10 washer DIN9021

M10 Nut DIN985

M10x45 bolt DIN603

Corner 40x45x60mm 90°

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:25 SHEET 40 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



Z011 seat leg

M10x100 bolt DIN603

Corner 40x45x60mm 90°

Corner 40x45x60mm 90°

M10 domed cap nut DIN986B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 41 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



N

O

DETAIL N
SCALE 1 : 10

M10x30 bolt DIN603

M10 domed cap nut DIN986

DETAIL O
SCALE 1 : 10

5 x 40 Woodscrew5 x 40 Woodscrew

Cap for 30x30 aluminium slat
Z011 30x30x1000 AL

Z011 30x30x1500 AL

M8x55 bolt DIN603

M8 Nut cover
M8 Nut DIN985

M8 Nut cover cap

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 42 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



M10x170 bolt DIN603

Z011 Bowl

Z011 Bowl circle 225mm

Z011 Bowl circle 145mm

Z011 Bowl circle 225mmZ011 Bowl circle 225mmZ011 Bowl circle 225mmZ011 Bowl circle 225mmZ011 Bowl circle 225mm

Z011 bowl star

M12 Nut cover
M10 Washer DIN9054M10 Nut DIN985

M12 Nut cover cap

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 43 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



P

DETAIL P
SCALE 1 : 15

M8x40 DIN7991M8x40 DIN7991

M8x40 DIN7991

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:30 SHEET 44 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



A

DETAIL A
SCALE 1 : 12

Zodiac rafter

M8x40 Art. 9121 TX-PIN

Plastic corner 90° 65x65mm

B

Zodiac roof panel without letter

DETAIL B
SCALE 1 : 15M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

Zodiac roof corner

C

Zodiac roof with letters

DETAIL C
SCALE 1 : 15

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

Bigger Zodiac rood assembly

Step 1

Step 2

Step 3

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 45 OF 48SCALE: 1:30

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



D

Zodiac roof Aluminium 30x30x1798

DETAIL D
SCALE 1 : 10M8x30 Art. 9121 TX-PINM8x30 Art. 9121 TX-PIN

6 x 50 Woodscrew

Step 4
Bigger Zodiac rood assembly

C

2 31 4

B

A

D

E

F

Z011

26.09.2022I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 46 OF 48SCALE: 1:30

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Playhouse Aries



Q

DETAIL Q
SCALE 1 : 5

M8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PINM8x40 Art. 9121 TX-PIN

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:30 SHEET 47 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011



R
DETAIL R

SCALE 1 : 10

M10x120 bolt DIN603

M12 Nut cover
M10 Washer DIN9054

M10 Nut DIN985
M12 Nut cover cap

B

C

D

1 2

A

321 4

B

A

5 6

C

Playhouse Aries

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:30 SHEET 48 OF 48

A4wood, metal, plastic
WEIGHT: 

I.Agar 26.09.2022

Z011


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4

	Sheet5
	Drawing View5
	Drawing View6

	Sheet6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20

	Sheet7
	Drawing View21
	Drawing View22
	Drawing View23

	Sheet8
	Drawing View25
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36

	Sheet9
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40

	Sheet10
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View45

	Sheet11
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View56

	Sheet12
	Drawing View57
	Drawing View58
	Drawing View59
	Drawing View60
	Drawing View61
	Drawing View62
	Drawing View63
	Drawing View64

	Sheet13
	Drawing View65
	Drawing View66

	Sheet14
	Drawing View67

	Sheet15
	Drawing View68
	Detail View A (1 : 15)

	Sheet16
	Drawing View81

	Sheet17
	Drawing View82
	Detail View B (1 : 10)

	Sheet18
	Drawing View84
	Drawing View85
	Drawing View86

	Sheet19
	Drawing View83

	Sheet20
	Drawing View87
	Drawing View88
	Drawing View89
	Drawing View90

	Sheet21
	Drawing View91

	Sheet22
	Drawing View93

	Sheet23
	Drawing View94

	Sheet24
	Drawing View95
	Detail View C (1 : 10)
	Detail View D (1 : 10)

	Sheet25
	Drawing View98
	Detail View E (1 : 10)

	Sheet26
	Drawing View100
	Detail View F (1 : 10)

	Sheet27
	Drawing View102
	Detail View G (1 : 10)

	Sheet28
	Drawing View104

	Sheet29
	Drawing View105

	Sheet30
	Drawing View106

	Sheet31
	Drawing View107

	Sheet32
	Drawing View108
	Detail View H (1 : 10)

	Sheet33
	Drawing View110

	Sheet34
	Drawing View111

	Sheet35
	Drawing View112
	Detail View I (1 : 10)
	Detail View J (1 : 10)

	Sheet36
	Drawing View115
	Detail View K (1 : 10)

	Sheet37
	Drawing View117
	Detail View L (1 : 10)

	Sheet38
	Drawing View119

	Sheet39
	Drawing View121

	Sheet40
	Drawing View120
	Detail View M (2 : 25)

	Sheet41
	Drawing View123

	Sheet42
	Drawing View124
	Detail View N (1 : 10)
	Detail View O (1 : 10)

	Sheet43
	Drawing View127

	Sheet44
	Drawing View128
	Detail View P (1 : 15)

	Sheet45
	Drawing View130
	Detail View A (1 : 12)
	Drawing View132
	Detail View B (1 : 15)
	Drawing View134
	Detail View C (1 : 15)

	Sheet46
	Drawing View136
	Detail View D (1 : 10)
	Drawing View138

	Sheet47
	Drawing View139
	Detail View Q (1 : 5)

	Sheet48
	Drawing View141
	Detail View R (1 : 10)


